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SOLVE EQUATIONS BY FACTORING: Worksheet 1

Solve each equation by factoring.

1) x?2+9x+20=0 2) y*-64=0

3) 5x*+5x-30=0 4) t*=81

5 w?-9w+14=0 6) r’—5r=6

N 2x*-18=0 8  x*+16x=-15

9 16y*=9 10)  —39*-99+30=0




11)

13)

15)

17)

19)

4b* +12 =16b

x> —x=0

9x*-4=0

2x? —-8x—42=0

t2+10t—24=0
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12)

14)

16)

18)

20)

x> +7x=0

c?+9c+18=0

6f°-6f =12

h? +14h = —40

30° +30-90=0
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KEY
SOLVE EQUATIONS BY FACTORING: Worksheet 1

Solve each equation by factoring.

1) x*+9x+20=0 2) y*’-64=0
(x+4)x+5)=0 (x+8)x—-8)=0
{-5-4} {-88}

3) 5x*+5x-30=0 4 t>=81
S(X—2)(x+3) =0 t?—81=0
{-32} t+9)(t-9)=0

{-9.9}

5 w’-9w+14=0 6) r’—5r=6
(W=2)(w-7)=0 r’—5r—6=0
{2.7} (r+1)(r-6)=0

{_116}

) 2x*-18=0 8  x®+16x=-15
2(x*-9)=0 x* +16x+15=0
2(x+3)(x-3)=0 (x+15)(x+1) =0
{-3.3} {-15-1}

9 16y*=9 10) 39?2 -99+30=0
16y*-9=0 -3(q? +3q-10) =0
(4y+3)(4y-3)=0 -3(q+5)(q—2)=0

33 {-5,2}

4’4



11)

13)

15)

17)

19)

4b* +12 =16b

4b* -16b+12=0
4(b*-4b+3)=0
4b-1)(b-3)=0
{13}

x> —x=0
x(x*=1)=0

X(x+1)(x-1)=0
{-10,3}

9x*-4=0
Bx+2)(3x-2)=0

[

2x? —-8x—42=0

2(x* —4x-21D) =0
2(x+3)(x-7)=0
{37}

t2+10t—-24=0

(t+12)(t—2) =0
{-12,2}
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12)

14)

16)

18)

20)

x> +7x=0

X(x+7)=0
{_7’0}

c?+9c+18=0

(c+6)(c+3)=0
{-6.-3}

6f°-6f =12

6f>-6f-12=0
6(f2-f-2)=0
6(f+1)(f-2)=0
{_1!2}

h? +14h = —40

h? +14h+40=0
(h+10)(h+4)=0
{-10,-4}

30° +30-90=0

3(b2 +b—30) =0
3(b+6)(b—5) =0
{_6’5}



